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1. BEEBROEE
(1) BENES
OEAUEERR 0 0
OXHVRIESE 1,120,000 1,120,000 0
©F = )¢ 29,799,500 29,164,800 634,700
@ HVHENE 12,153,000 46,693,900 A 34,540,900
OXMHEE 3,800,000 3,770,000 30,000
OXMEF E 0 210,000 A 210,000
DN 0 6,000 A 6,000
EEINGET 46,872,500 80,964,700 A 34,092,200
(2) EHEH
OFEE 49,590,000 83,030,100 A 33,440,100
QOEHEHE 1,762,500 1,907,100 A 144,600
EEERE 51,352,500 84,937,2001 A 33,584,700
HEARREIEIREE A 4,480,000 A 3,972,500 A 507,500
2. HEHEIMBEROED
(1) BEIMREE
TEEIMNGRET
(2) BEHEH
EESNEAET
HERRR R IMEIREE
S HA— A% I E KRB EE LRI ER A 4,480,000 A 3,972,500 A 507,500
—RRIEBREAEHAE YR = 27,645,699 31,618,199
—AXIEBREAEE AR IR = 23,165,699 27,645,699
I 457 [EDREAEEIRIRIODED
S RAETE IERBA EE R ER 0
IEEERMERERS 4,000,000 4,000,000
ETEIEIREAERAR A= 4,000,000 4,000,000
I IEREAERIRIAS 27,165,699 31,645,699 A 4,480,000




